Chaprizr_2

frosrem #2-/

[ i p o= 14 (100) = /4o psF
21,20 + 1oL + 05(Lr or S or £)

,,g(mo).;-;-ého)f- a.5/3a) = 247 psF <=—
3. 12D+ |t /z_,- or § or R) +(0.5L or o5w)

l.2 (100) + 16 (99)7" 0.5(70) = 203 psF

4, |\2D+ |.OW + 0.5, + O.S'/L,.. oy S a,,/\a)
)i2(100) + 1o (©) *+ 0.5/70) + 0.5(30 )= 170 pSF

5 [2D+ loE +0.5¢ +0.25
1z (10) + fofo) + 0.5/70) # 0.z(30)= /el psF

e: ©.90+ Low
0:9(100) + 1.0(0) = &0 pSF

0:9(100) + 1.0 (o) = 9opSF

éava/Mcs FACIDRED Loao = 247 psF /C-AJE 2.)

5FC/ 2-|



FRoprem™® 2-2

/i 140 = 114 (12000 ) =

2,

Poes No7~ Covrreot
(By 1wspecon)

3, 1,20 +ffé/Lr or S or R) f‘(O,SL or 05 W)

Iz (1%000) + 1.6[ @) + 0.5 [ +52,000) =

/o, 8001b

/)‘-0,4-00/b

4. |zp + /:OI/\/v’-O.SZ,‘- O,E/L;-o,a S or /‘?)

1.2 (l 2000)+ /.0(52,000) =

5,

DOEsS NoT Commeol
By Inspecnon)

6. 03(0)+ 10w (vprier)
0.9(/2,000) # /'0/-52,900) =

7. ———0Does Nor Comreol.
( By wspecrion )

MAaximym Fremeee Losos:

+ @6,400 lb
-4 )2 00 /b

CAse 4,
CASE ¢,

L6, 400/b <—

~41,200[b=—



ProBLem # 2-3

le 1.4 D = 114(9000)'- /%éOO /b
2 12D+ Lol + a.s/z,. or 5 or R)
/.2/9000)% /.zr-/saoca) +a.5/zsao)= 20,050/5 <

3 1,204 leflvor Sor R)+(0.5L or 0.5W)
1'2(9000) # /.&[zsoo) + 0.5 /Sooo) = /7, 5’00/6

4, 112D # ), OW + 0.5L + 0:5/£r ov S ov R)
112 (9000) + 1.9(g) + 0.5 s000) +0-%[2500) = — [4550/b

5. J2p+ J0 E + 0,5L +0,25
112(9000) + 1,0 (6500) + 0.5 ( 5000) +0.2(#) = — 19,800/

Does No7 Conmedl
{5)' INSpeCrion )

/. 090+ 1.0E  [vpLFr)
0.9(g9000) £ 1:0(-¢500) = JGoo b

MAXiMvM FacmesD Loros :
+ 20050 /b case Z
No vpLiFr




ProBren; # 2-4

.. 14D = hd (2¢)=

2 e D+ b l+ 05[lrorS orR)

Lz(ze) + 14(9) + 9.5[;6) =

3. ].20 # I.¢C /Lr oS arﬁ) +{0-5L or 05 W)
1z (2¢) + refle) + 05 (%2) =

¢, 120+ HOW +0SL + 0.5[Lr ovr 5 orR)
112 (24) + Ji0(42) + 0.5(c) + 0.5[1¢) =

5 Does Nor Conrrot

(By Lwspecnon)

6. 090+ 7.0W (UFL:FT‘)

09 (24) + rof-42) =

2 Does WNor Cownreol
(BY Inspecnon )
MAxiMvmM Facroeers Loaos :
7" ?8:8 P;,f @55’ ¢
~ W4 pir CAs g,
5FcY

33.¢ FPSF

36.8 psF

75,4 pSF

73.8 PSF

-10.4 psF

2-4



ProeLeEwm ¥ 2-5

D=¢64psF L= /oo pSF
Beam spaciNG =7 Lo

D(PLF)r ¢4 (75) = 480 pLF
L{pLF) = Joo[ns)= 750 pLF

. 14D = sy (93D) - - @72 pLF

2. h2D 4+ he L +0.5(lror 50 R)
2 (480) + 1.¢ [750) =

1776 pLF <—a
3. 0120+ tt(lror 7 err)Ho.5L or 0.5W)
l2 (480) + 6.5( 750) = 95/ pLF
4‘ /;LO'I‘ /;OW'/' 0.5L + 0.5./[[- Oi’jork)
12 (480)+ 0.5 (750) = 95/ pLF
5 1.2D+ loE # 0.5L +0.25
/2(430) + 0.5 (750) = 95/ pLF
6. 0.9p + )oW /NO IIPUFT)
09 (%s0) = 432 pLF
7. 090 + [loE {Na Vqu‘r)
0.9/430) x 432 pLF

MAXiMuM  FAceep [oap = I77¢plF Case ;.

spe/

7-5



Proglem * 2-G

D=20psF S=1z2 psF, Ly=13P5F, W= 38psF t (:)
/oPSF 4 (+)

Beant Spacwg = é'o

D /p“) rZU/‘}s' /ZOPLF
5 (pF) = j2(e) = 72 piF
lr (peF) = 12(e) = /98 PeF
W (piF) = -38(e) = —21ppiF

or = *le(e)= 96 pLF

. 140 = fgfya0) = /68 pLF
2. /2D Ftrel # ::?-F/Z-* or Sor R)
/2 (/zg) o 0-5//08) - /93 pF
3. l.zo ¢+ /.6/6.&- orsar/?)+(0'5¢ or 0'5w)
lt(1zo) + 16 (108) + 0.5 (96)= 3¢4.9 pPLF
<~

$. 1204 tow + 0.5L # 0.5 (Lror Ser R)

12 /sz);. /.0/9(4) # 0.5/;0?) = 294 pLF

5. |20+ tLog ¢ 0.5L +0.25

litfize) ¥ o0.2(72) = __ /53.4 pLF
6. 090 + [0 W {UPL/FF‘)
09 (120) + t.0(-228) = _ —/20.0 pF
-

7. —— Poes por Covmeot - By TwspeenoN

Maximom Facrones Loags :

I¢ks pLF case 3, Down v a2
—[20.° puF Case ¢, Up WAeD




ProsLem #* 2-7

/[, D =z oo = /oo pSF
2. D+L = too + 70 = /70 psF
3. D +(11, orSor R) = /00 +30 = /30 psF
4. D + 0«75/{.}!— 0.75/&» orS arﬂ)
/00 + 0.75(70) +0.75(70) * /75 psF <+—

5. Dt (0.0Wero0.7&) = 100 +0 /00 pSF
ba. D 0:/5L + 015 (0. 6W) + 0,75 (L) 0 5 o R)

/oo + o.‘?s(?a) + 0 4 0.75/_3-9) 1758 pPSF
6b. D+ p.75/) + 0.75/0.7 L—") 1’—0-75/5)

leo +075 (70) + 0 + 6.75 (30)——— 175 pSF
7 06D+ oew  (vpuFr)

0 (100) + © 60 psF (/g;un—
8 06D+ 07 (vpurr)

0-t(100) + 0 GOPSF /?’guﬁ‘r

GoVezning LoaD = |75 PPF  CASE 4

v
SFC e



ProprLem # 2-8

/- D= |zo00 = /2,000 /b
2, D+L = /2,000 = _ /2,000 /b
3. p+ (Lrorsor R) = 12,000 *= /z2,000/6
4. D+ 075 L £ 0,75[1.;»3»"' Sark)
/L0000 = /2,000 b
5 D+ /O-Qv'«/oroje)
/2000 + oré(Ez,ODO): 43,2_00/6 “+—

ba. D+ 075L + 0.75(0.6W) 4075 (Lr or S or R)

12,000 + 0 + 0-75[0.4)5'2,90@ $O= 35,400 /b
Cb. O+ 0.75L + 075 (0.72 )+ 0.75(S)
/2,000 40 = 12, 000 /b

7. 0.&D + 0.6W (vpLiFT)
6.¢(12,000) + 0.6(-52000)= ——— 24,000 /b

(bpLiFT)
B. 06D + 0.7&
0:6(iz)000)+ O = 7200 /b
(Mo VpLIET)

GOVERNING (loaps :

+ 43,200 [b (Cuse &
— 24,000 /b

Cuse 7,

s
DS



Proprem # 2-9

/. D= %000 = ?000/5
2. D +L = 9000+ 5000 = /4,000/b
3, D+ (t,— or S 4, /?) = 90006 + 1500 = /!, 500/b
4 D& o5 L + 6.75 L vs ;—Wﬁ)
Fooo "-"'75{‘500‘-") + Ov?S/ZSao) = /4,625 /b
4 D¢ {O-éWorO:?E)
Fooo + 007/4500) = /3,550/b

ba. Dt 075, + 0.75(04W )+ 075 (Lror Sor &)

9ooo + 0-75/5000)71- D4 o.75/z§cm)= /4625 /é
9000 4 0.75 (50c0) + 0.15 (0,7)(¢ 500) +a-75(z5a=) * 18,0375 [} «+—

T o0ep s 0.6W CPupr
o.é(éooo)-f— o = 5)400/5 (Aéo
8. 0D + 0.7E vl / { .
i 7(-6500)= i
GOVEwwm4 Loaps ;
/8,032,5 /b CASE (a4,
No UpLier

sreV



Proglem # 7-70

. D=z 24 = 24 psF
L D+L = 24 - 24 psF
3- Df(Lror5wﬂ)=Z¢+/6= 40 psE
D+ 07504 075 [Lror 50r &)
24+ 0.75(1e) = 3¢ psF
3. D + (o'QWOV' 0»7&)
24 + 0.¢(42) = 49.2 ps¢

ba. ) + 075 [ + O.7S/o.4,w) 4 0,75(1‘_ 5 5 o R)
24 +0 4 0.75(0,4,)(4-?.) 4 0.75( 1o)=

Gb. D+ 075L + 075 (0.7£) 44

24 40 + 0 + o075 (/e) =

7 06.6D + 0.6 W LpLIFT
0¢(24) + ptf-4z) =

=10:'8 FJF -

OpLirr

8, 06D +o0.7¢ OpLIET

Fef #o 144 psF

(N2 upu.c:-ﬂ

GoVERLNING [pups -

%9 psr CASE Ga.
/ —/0.8 psr CAse 7 -
Sk

7-10



Proprem # 2-)

D=b4psF L= [bopsF
Benm spaciwg =9Le "

p (PLP) = 64‘(25) = 430 puF
L (Pep)= 100 (2.5) = 750 pLF

I O = 480 = - Ygo pLF
0 D+L = Y80+ J50 = /230 prp <——
5. Dt (LrorSor R)= 450 - 480 puF
4 D+ 0751 4 0.75/4,, or Sor R)
430 + 0.75(/750) = 42,6 pr
5. D+ (O,év\/\/or 9,75) =Ygy = Yo pLF
ba. D+ 0:75L # 075 (0.aw) 40675 (L or Sor R )
480 + 0.75 (750) = 1042.5 puF
6l p ; :
FOTSL + 0,75 0.7£ ) # 0:7S/L;— 0r Sor R
480+ 075 ( 750) = — /o425 pLF
7. 6.0 + o Upu#‘?‘
6. (430) 42 = 283 pue
8. 060 + 67&
0+t (480) fp= — 7283 pLF
GoverniNg LoAD :
seeV /230 pLF (LasE 2.

e



Prorem # Z-)z

D=7o F?F :/ZF;/:) Lr:.'/gpsp J w = 33?’; f (-)
lpse | (+)

Beam spacing = ¢lo”

D (per) = 20 (¢) = /2o puF
S5(PF) = 12 ()= 72 pur
Lr(pr) = 18 [e) = Jo% puF

N(PLF)" - 38 /{.):"‘ZZBFLF
+10(e)= 96 puF

Il D = JZo = IZo pLF
2* D 4L = 120 = : /Zo F"F
3; D + {Lr or 9 op K)’ /20 +/03: 228 PLF
4. 0 + 0'75L-}-0r75(1-r or S ov R)

/2o + 0.75{/08)" 20] PLF
5. D+ (0.eWorp.7x)

I20 + 0.6 (96)= /776 p LF

ba. D+ 075L + 075(00w) 4 o.75/L,,,,5W£)

/eo + O + 0.75/0-6){96’) + 0'75//03)2_ 2442 PLF
Cb. D+ 0.75L+ 0.75(0.72) + 0.75 [t or 5 ., R)

/2o+ 0 + p 'f'O'?S//DQ)-"' 26/ pLF
7, 6.lD +0.eW VPLFET
oi(120) + 04 (-228) = ~64. 8 pLF
UPLIFT

GovatNIng Loaps -

Z¥HL pLF Case GCa.
- Y4B pLF CAse 7, UPLIFT

sV’ 8: ——DoE% No7 LConrent (by 7o 2 ) 292




